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1-“The hypothesis that people are nearly but not fully rational” means:

1. full rationality 2. rationality

3. bounded rationality 4. behavioral rationality
2-The......... of something is its basic quality or character.

1. allocation 2. nature 3. want 4. cost

3-. Satisfaction means:

1. fulfilling 2. wants and needs
3. apportion 4. prediction
4-Most models use the ......... assumption that all other things are held constant or equal.
1. variable 2. factor of production
3. simplification 4. ceteris paribus
A e is a wish to do or have something.
1. desire 2. commodity 3. situation 4. alternative

6-Which one belongs to macroeconomic?

1. car market 2. inflation 3. price 4. production

7-One of the four factors of production is:
1. inflation 2. entrepreneurship

3. price 4. investment

8- opportunity cost means:

T 68wl 2. oSS 3 alanse 4 o ane

9-Expectation of a rise in income may couse consumer to .......... :
1. more production 2. |ess production

3. purchase more 4. less consumption

10-Which one employs resources to produce goods or services for profit?

1. |abor force 2. consumer 3. firm 4. market
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11-............. is @ quantity much larger than is needed.
1. Supply 2. Shortage
3. State of being in short supply 4. Surplus

12-Lack of success means:

1. finance 2 failure 3. cost 4. forgone

13-Which one is a government — sponsored good?

1. museums 2. gambling 3. capital 4. land

14-Which one is an example of a public good?

1. national defense 2. automobile
3. money 4. heroin
15-External ....... lead to an overallocation of resources and ......... is possible way of correcting
these spillovers.
1. taxation, financing 2. penefit, regulation
3. income, subsidizing 4. cost, taxation

16-“Person who officially enters a competition or institution” means:

1. reentrant 2. job leaver 3. new entrant 4. entrant

17-when the_purchasing power of the rial decrease, we have ........... .

1. inflation 2. deflation 3. recession 4. unemployment
18-In total income rent and profit received by .......... and .......... respectively.

1. workers, capital owners 2. landowners, entrepreneurs

3. capital owners, landowners 4. landowners, workers

19-The sum of the_value added is equal to the sale price to the final consumer. Value added

means:
1. &1L 2. 23938l 53 3. e )] 4. =l o)
20- . iiiiceenneninnn are consumer goods that have a life span of more than three years.
1. Final goods 2. Durable consumer goods
3. Nondurable consumer goods 4. Services
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21-which one means: "amounts owned, the legal claims against b business or household by
nonowners."

1. assets 2. liabilities 3. liquidity 4. investment

22-which one is_not the function of money?

1. madium of exchange 2. consumer good

3. unit of accunting 4. store of value
23 e is the unit of accounting in Iran.

1. transaction deposit 2. money

3. Rial 4. central bank

24-"Money that you need to pay for something" means:

1. capital 2. expense 3. interest 4. consumption
25 iiirierereens is the person to whom something belongs.

1. producer 2. consumer 3. debtor 4. owner
26- .. iiireierereeeene is someone who sells things such as newspaper.

1. Worker 2. Vendor 3. Wabbor 4. Reentrant
27-He tried tO .....ccceereuns the information he need.

1. acquire 2. consume 3. cost 4. investment
28 .eeieeeerreeennee means : "A general rule or scientific law about how something happens or

works."

1. pill 2. stable 3. record 4. principle

29-The essential task of an economy is_directing resources into useful goods and services.
directing means:

1. e 2. L;"’")"a 3. oo 4. gl Alge

30-1f you make a prediction, you say what you think will happen. prediction means:

1. planning 2. directing 3. coordinating 4. forecasting

Yede /)1 FYFY
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1-Which one is not belong to social sciences?

1. economics 2. biology 3. accounting 4. management
2-Modern economists are increasingly using ................ as the basis of macroeconoics

analysis.

1. rationality assumption 2. models

3. microeconomics analysis 4. theories

3-He was asked to evaluate the situation. 'Evaluate' means:

T oS e 2 38 ol S N 4 0S5 syl

4-1f you forgone something, you give it up or do not insist on having it. 'Forgone' means:

1o o Jas o 2. b s ) 3 ols Lamass 4 oS Lo,
5-ln economics, cost is always a forgone ................ .
1. scarcity 2. wants 3. needs 4. opportunity

6-Which one is the most basic concept in all of economics?
1. entrepreneurship 2. scarcity

3. resources 4. opportunity cost

7-Any point that is not equilibrium is unstable and will not persist. ' Equilibrium' means:

8-The law of demand posits a(n) .......cccvsveeees relationship between the quantity demanded of
a good and its price, other things being constant.
1. direct 2. inverse 3. shift 4. along
9-Anincrease in income will lead to a ............... the position of the demand curve.
1. leftward shift in 2. rightward shift in
3. movement along 4. none of the above

10-A private company will finance and build the pipeline.

3.

T oS e s 2. oaygl azag, o gl TS e
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11-Which one is the most important role of the price system?
1. positive externalities 2. proficiency

3. misallocation 4. negative externalities

12-Each_entrant plays the game of their choice. 'Entrant’' means:

13-A e, worked a full time job before but has been out of the labor force.
1. job loser 2. reentrant 3. job leaver 4. new entrant
14-The real rate of interest is defined as the................ rate of interest minus the................
rate of inflation.
1. real, anticipated 2. nominal, anticipated
3. real, unanticipated 4. nominal, unanticipated

15-In some countries there is the public ownership of land. ownership means:

16-In account of text, .....ccceeeeeres are consumer goods that have a life span of more than three
years.
1. services 2. nondurable consumer goods
3. durable consumer goods 4. final goods
17-In the factor market, .................. .
1. households are the sellers 2. businesses are buyers
3. businesses are sellers 4 aandb

18-Before money was used, transactions took place by means ofbarter. 'Barter' means:

1. s 2. bl S io,S e U 4 L aole

19-Using the ............. approach, the money supply consisits of currency, transactions
deposits, and traveler's checks.

1. money 2. deposit 3. fiduciary 4. transactions

20-The amount of money in circulation is called ............. .

1. money supply 2. unit of accounting
3. transaction deposits 4. liquid
1Y axio 1P -8 Jof Jluwsd 1010/101039589
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21-The figures show a deficit of 56 milion rials in the_balance sheet for 2009. balance sheet

means:
Tl 2 Jolai s 3 b9 o9m A el ass
22-A ceieeiieenenene , shows the financial position of a business at a particular date.
1. balance sheet 2. acount payable
3. owner's equity 4. income statement
23-Owner's equity may be increased by ................. of cash or other assets by the owner.
1. withdrawal 2. investments 3. assets 4. creditors

24-The land was simply taken by the communists and the original titledeeds have long since
disappeared. 'Deeds' means:

LN I 2 15,5 3 ol A4 lgals
25-A .cieerrrrennenee is an economic unit that engages in identifiable business activities.
1. basic accounting 2. going concern
3. business entity 4. factor of production
26-The rial isn't a precise and changless unit of measure because of ................... .
1. going concern 2. current 3- inflation 4. stable

27-Could you please explainfeatures of management? ' Features' means:

LERCARE 2. (55, 3 las Slas 4 olab
28-Management needs ................. , Technical, Human communication, and Decision making

skills.

1. Conceptual 2. Environmental 3. Model 4. Scope

29-Which one belongs to external environmental factors of management?

1. political 2. place 3. money 4. labor
30-Professional managers are committed towards their ............. and not to the organization.
1. profit 2. profession 3. scope 4. peaple
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1-opportiunity cost means:

T Sl a3 2 sy Jor aia 3 iloanse b ana

2-1f a nation experiences economic growth,the...............curve will move outward.
1. Trade - off 2. production possibility
3. Cost 4. supply

3-Do you have any other alternative? Alternative means:

1. el 2. S 5L 3. ol 4. Sl ) aie

4-...ceeeeeeeeeais the use of resources, goods or services to satisfy wants and needs.

1. Land 2. Scarcity 3. satisfaction 4. Consumption

5-1.A sponsor is a person or organization that promotes or supports.

1. st 2. S Sy 3, 4. el
B-1A...ccrcrrenenns , who worked a full-time jab before but has been out of the labor force.

1. producer 2. Reentrant 3. owner 4. New entrant
7-In the product markets households are ............ and businesses are the ........... .

1. buyers, seller 2. producer, consumer

3. seller, buyers 4. consumer, consumer

8-The poorly paid worker, s wage has not increased for two years.

9-The ............ of an economic entity are its debts.
1. liabilities 2. products 3. Assets 4. utility

10-There are five generally accepted accountingprinciples. principle means:

1 2 . 3 i 4 e
LR \(1) - is the giving of one thing and the reception of another in its place.
1. Equity 2. Expense 3. Income 4. Exchange

12- Advertisement can increase consumer motivation for using a product.

1. u-“)*@ 2. cds 3. . . 4. JL:-?|
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13 reeecennes is one of most important factors of efficient management.

1. |nvesting 2. Coordinating 3. Forgoing 4. Measuring

14-Which one belongs to external environmental factors of management?

1. political 2. Place 3. Money 4. Labor

15-Which one does specify that assets acquired by a business entity are to be recorded at the
exchange price paid for them?

1. The objectivity principle 2. The cost principle

3. The stable-rial concept 4. The going concern concept
LAY Y (1) [P show the financial position of a business at a particular date.

1. Account payable 2. Income statement

3. Net income 4. Balance sheet

17-Which one does show how the owner, s investment has changed from the start of a period
to the end of a period?

1. Income statement 2. Statement of Owner, s equity

3. Balance sheet 4. Company, s revenues

18-Money traditionally has four functions.

1. 4y & 3% P 2,5 4. bl

19-Money, s attribute as the most readily tradable asset is called...............

1. Accounting 2. Hazard 3. Liability 4. Liquidity

20-Which one is one of the most important function of money?

1. Medium of exchange 2. Unit of accounting
3. Store of value 4. Standard of deferred payment
21 e, is any use of today, s resources to expand tomorrow, s production or
consumption.
1. performance 2. Measuring 3. Inventory 4. Investment

22-Which one does not get included in measure of GDP?

1. Final goods 2. |Intermediate services
3. Final services 4. Export
VY axio AV —AF pgo Jluow 1010/101032186
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23-The ..cccvvuueene value of anything is simply its price expressed in today, s Rials.

1. Structral 2. seasonal 3. sponsored 4. Nominal

24-An increase in income will lead to a .....................the position of the demand curve.

1. Leftward shift in 2. Rightward shift in

3. Movement along 4. Donot Movement
25-Butter and margarine are.....................00ds.

1. Commodity 2. Substitutes 3. Representation 4. Exchange
26-Any point that is not.................. is unstable and will not persist.

1. Alternative 2. Equilibrium 3. Rationality 4. satisfaction

27-How the government can correct negative externalities?
1. Government financing and production 2. subsidies

3. Government production 4. Special taxes

28-1. National defense, police protection and the legal system are examples of..................

1. Human capitals 2. public goods 3. Free - riders 4. Private goods
29 .eeereenee is the process of successfully fulfilling wants and needs.
1. Analysis 2. prediction 3. Production 4. Satisfaction
30-1.The process of distributing resources for the production of goods and services is...............
1. rationality 2. allocation 3. product 4. economy
VY axio 1PAY—3F pgo Jluos 1930 /141 FTIAS 4
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1-Wants are all of the items that people would_purchase if they had ultimate income.
purchase means.........

1. give 2. puy 3. earn 4. sell

2-Scarcity is a fact of life, like gravity. Scarcity means.........

1. quality of being full of initiative 2. act of providing
3. state of being in short supply 4. act of apportioning
3-An increase in income will lead to an increase in_demand. demand means.........
1. fight 2. require 3. forbid 4. provide

4-External_benefits result in an underallocation of resources to the specific activity. benefit

1. profit 2. occasion 3. export 4. option

9-Lenders attempt to protect themselves against inflation by raising nominal interest.
inflation means........

1. rise in prices 2. |egal claim 3. sale of goods 4. legal system

6-Britain's poor economic_performance caused to high rate of unemployment. performance

1. complement 2. management 3. operating 4. investment

7-Using the_transactions approach to measuring money and travelers' checks non issued by
banks. transaction means.........

1. desire 2. supply 3. trade 4. salary

8-A recession would reduce government tax revenues. _revenue means........

1. cash 2. price 3. pill 4. income

9-The term stable Rial means that the Rial of the past year is considered equal in value to a

current Rial. stable means.......
1. high 2. steady 3. total 4. public
10-This_approach is very close to the practice of management. approach means.........
1. failure 2. method 3. output 4. account
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11-Economics is a social science that studies the alocation of limited resources to the

.................. of goods and services.

1. expectation 2. profession 3. production 4. information
12-1n economics ................ is a situation in which quantity supplied is greater than quantity

demanded at a price above the market clearing price.

1. entrant 2. schedule 3. surplus 4. shortage
13-The nature of public goods leads to the ................. problem, a situation in which some

individuals take advantage of the fact that others will assume the burden of paying for
public goods.

1. job loser 2. liquidity 3. free-rider 4. quantity
14-The layperson's notion of ............ccc....... often relates to the purchase of stocks and bonds.
1. investment 2. consumption 3. employment 4. corporation
15-Money is the unit of measure employed in recording................. transactions.
1. nominal 2. moral 3- financial 4. final
16-When a business borrows money for any reason, a ......c...c....... is incurred and the lender

becomes a creditor of the business.
1. liability 2. household 3. possibility 4. interest

17-1t is the part of economic analysis that studies decision making undertaken by individuals
and by firms. it refers to.........
1. behavioral economics 2. macroeconomics
3. positive economics 4. microeconomics

18-1t is the human resource, which includes productive contributions made by individuals
who work. it refers to.........

1. Joan 2. index 3. firm 4. labor

19-1t is a system by which a government collects money from people and spends it on such

things as defence, education and so on. it refers to........
1. distribution 2. security 3. taxation 4. stability
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20-1t represente the total market value of the nation's annual final product, or output,

produced by factors of production located within national borders. it refers to...........
1. withdrawals 2. gross domestic product
3. credentials 4. government inhibited goods

21-When the values are interjected into the analysis, we enter the realm of_normative
economics. normative economics mean ........

15 slas| 2. Ll slazsl 3 o sl 4 o s slazi

22-Prices are always expressed in constant quality units in order to avoid the problem of
comparing_commodities . commodity means.........

1.y 2 s 3., 4 4 s

23-Cyclical unemployment is related to business fluctuations. Cyclical unemployment

1 gl )l 2 ka5 IS B slo50 &)l 4 ages (5,50

24-The financial statements of a sole_proprietorship or partnership consist of the balance
sheet and the statement of cash flows. proprietorship means.........

25-In our fiduciary monetary system, there is not legal requirement for money, in the form of
currency or transactions deposit.fiduciary monetary system means..........

1 2

3 5 s (e 4. Ja Cusld . puitamens

26-If all these self-perceptions were really true, then you would have an absolute advantage
in all of these endeavors. absolute advantage means.......

1.

4.

ol g 2. gl cuje 3 aagidl ap S

27-The subject matter of delegation, decentralization are a part of this definition.
decentralization means...........

1. m’.b}’“]ﬁ 2. L;J....LN 3. 23S el 4. eosilejlu

1010/101028203

F Y axio 1PAr—3F Jof Jluosd

http:l.‘SoaIatPNU.ir )8 ‘nl" é‘ﬂ,—u b‘l"." n.ii, LW X) )l).’ Ly J)L;, L‘ n:-‘l.a » |) le u.a)o] o C-*L.a 3' n:-*la-‘n- Sy



s“alatP““." Gﬂu)u . ‘J’—; ’.I:l-l.\lI l_l_:.iuln =
19 g SHgw alar Sy et g yg—djl j==2a

VS s Jlgw 5w cr Pkl VOt (4A85) geyT loj cI R Yo e $ O g Sl

w).idmgol..a.d' ‘sna.a:u ub) :E"J" U'B—“

i) (G50 Cu 00 o (husiz) (9 Cu e o (doaiz) 6l (ouaiz (s ) solamil pale )3 o yd O/ el 4k
IV suais) 50,5002 Cu pao o chsuiis) Sake Co poe

28-The statement of owner's equity can be useful to investors and creditors. investors and

creditors means........
1. OBl il ey el &)50 2 Ol 5 OIS asle s
8 Sl s 5l g catls L PP KV IS REE
29-one who is obliged to another is called debtor.debtor means.............
1- Pl 2 S als s 3. BN % o AL

30-The principle of rival consumption does not apply to public goods as it does to private

goods. rival consumption means..........
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1-The social science that studies the allocation of limited resources to the production of goods and
services used to satisfy consumer's unlimited wants and needs is called.................... .

1. sociology 2. economics 3. management 4. mathematics

2-1f you make a..........ceuu.er, Yyou say what you think will happen in the future.

1. decision 2. deletion 3. distribution 4. prediction

3- vvervsinnnnaare things that have value and, more specifically, are used to produce goods and
services that satisfy people's wants.

1. wWants 2. Losses 3. Resources 4. satisfactions

4-A....ccvceunee.€CONOMic statement is: "If the price of gasoline rises, people will buy less".

1. positive 2. neutral 3. negative 4. normative
5-Modern economists are increasingly using....................analysis as the basis of macroeconomic

analysis.

1. models 2. rational 3. theoretical 4. microeconomic
6-The four basic categories of resources, or factors of production are: entrepreneurship, .............,

capital, and land.
1. wage 2. Jabor 3 money 4. ground

7= veveeenemeans that we do not ever have enough of everything, including time, to satisfy our every
desire.

1. profit 2. Capital 3. Scarcity 4. Production

8-The more we have of one thing,...........we can have of others.

1. |ess 2. |east 3. the less 4. |ess than

9-From the economist's point of view, the term ............is objectively indefinable.
1. needs 2. wants

3. scarcity 4. opportunity cost

10-A situation in which supply and demand are matched and prices stable is called.................... .

1. reduction 2. inflation 3. imbalance 4. equilibrium

11-In economics, ...............Is a situation in which quality supplied is greater than quantity demanded
at a price above the market clearing price.

1. scarcity 2. surplus 3. supply 4. demand
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12-The law of demand tells us that the quantity demanded of any commodity is...........related to its
price, other things being constant.

1. inversely 2. precisely 3. directly 4. exactly

13-A reduction in the number of potential buyers at any given price shifts the market demand
curve......... .

1. fixed 2. costant 3- inward 4. upward

14-The management of money, credit, banking and investments is called............... .

1. |oan 2. finance 3. credit 4. liabilities

15-The person or organization that promotes or supports something or somebody is called................ .

1. seller 2. buyer 3. sponsor 4. consumer

16-The system by which a government collects money from people and spends it on such things as
defense, education, and so on is called............... .

1. salary 2. taxation 3. payment 4. expenses

17-The nature of public goods leads to the.............problem, a situation in which some individuals take
advantage of the fact that others will assume the burden of paying for public goods such as
national defense.

1. security 2. stability 3. rationality 4. free-rider

18-The person who officially enters a competition or institution is called............... .

1. entrant 2. tenant 3. consumer 4. distributor

19-An individual in the labor force whose employment is involuntarily terminated is called.............. .

1. job loser 2. reentrant 3. job leaver 4. job applicant

20-We define ..............as an upward movement in the average level of prices.

1. Joss 2. profit 3. capital 4. inflation

21-The sale and sending goods to another country is called.............. .

1. import 2. export 3. revenue 4. taxation

22-Any medium that is universally accepted in an economy both by sellers of goods and services as
payment for those goods and services and by creditors as payment for debts is called............ .

1. |oss 2. tax 3. price 4. money
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23-The extra money that you receive if you have invested a sum of money, or money that you pay if
you have borrowed some money is called................. .

1. debt 2. discount 3. interest 4. percentage
24-The word 'FASB' stands for Financial Accounting...........Board .
1. staff 2. Study 3- Sthility 4. Standard

25-By Peter Ducker, "Management is multipurpose organ that manages a business, manages a
manger and manages workers and work". 'Multi-' in the word 'multipurpose' means.............. .

1. many 2. one 3. any 4. no

26-The ultimate source of opportunity cost is the pervasive problem of scarcity. ' Opportunity cost'
means............ .

1. LPHU"‘"‘:” 2. Mﬁd‘_&ﬁ 3 OJ-.JPLAJ‘L-UA 4, YU"MPL‘H&LQJ

27-A situation in which something needed cannot be obtained in sufficient amounts is called
shortage. 'Shortage' means......... .

28-Grain is one of the intermediate goods. 'Intermediate goods' means............... .

1.y Ll 2. gls VS 3. ol alauly VIS 4 serse e s>

29-The balance sheet is listing of assets, liabilities, and owner's equity at a point in time. 'Balance

sheet' means........ .
1w 2 gl 3 05 s b s agae

30-The expenses of an important service such as water, electricity, or gas that is provided for
everyone are called utility expenses. 'Utility expenses' means............... .

1 s s 2 5r9r% n Slo anje
3 L gilh 7l AR WAPER
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1-A key behavioral implication of the ............. assumption is that people shoulde use so- called rules
of thumb.
1. rational self- interest 2. pehavioral economics
3. bounded rationality 4. unbounded rationality

2-The assumption that nothing changes except the factor or factors being studied is called ............. .
1. ceteris paribus 2. rationality 3. models 4. theories

3-The branch of economics that studies the parts of the economy, specially such topics as markets,
prices, industries, demand, and supply is called .............. .

1. microeconomics 2. macroeconomics

3. behavioral economics 4. scientific economics
4-When the values are interjected into the analysis, we enter the realm of .............. economics.

1. hormative 2. positive 3. behaviourial 4. stable
5-Because of increase in the number of workers and productive investment in equipment, ...............

occurs.

1. inflation 2. trade- offs

3. recession 4. economic growth

6-At any point in time, a society cannot be outside the .................. .
1. sale possibilities curve 2. highest valued alternative

3. alternatives curve 4. production possibilities curve

7-Which one is the most basic concept in all of economics?

1. entrepreneurship 2. scarcity
3. resources 4. opportunity
8-The services and efforts of human that are used for production is ............. .
1. labor 2. Jand 3. equipment 4. building
9-Two goods are ............ when a change in price of one causes an opposite shift in the demand for
the other.
1. substitues 2. complements 3. available 4. public
10-When the............... of a good goes up, people buy less of it.
1. consumption 2. price 3. sale 4. production
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11-A state in which something needed cannot be obtained in sufficient amounts, is .............. .
1. growth 2. surplus 3. supply 4. shortage
12-Sports stadiums, museums, and plays are exampes of ............. goods.
1. sponsored 2. inhibited 3. complement 4. substitues

13-We call rules made by government or other authority ............... .

1. competition 2. regulations 3. orders 4. commands

14-1n our country, government pays port of a public service or an industry costs. It means the
government .............. them.

1. subsidizes 2. carries out 3. taxes 4. allocation
15-Air pollution creates ............ because the air belongs to every one and hence to no one in

particular.

1. external benefit 2. external cost

3. positive externality 4. opportunity cost

16-Unemployment resulting from business recessions thet occur when total demand is insufficient to
create full employmentis ............. unemployment.

1. frictional 2. cyclical 3. structural 4. seasonal
17-An individual in labor force who quits voluntarity is called .............. .

1. reentrant 2. job loser 3. new entrant 4. job leaver
18-The real interest is defined as nominal interest minus the ............. .

1. real rate 2. interest rate

3. theoretical rate 4. anticipated inflation

19-Computing GDP by adding up all Rial value at current market prices of all final goods and services
is called .........cu. .

1. expenditure approach 2- income approach
3. fixed investment 4. gross pruduct
20-We call special certificates bought as an investment ............... .
1. securities 2. |oans 3. inventories 4. debts

21-Which one is not related to others in meaning?

1. wage 2. payment 3. expense 4. salary
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22-Consumer goods that have a life span of more than three years are called ............. goods.

1. public 2. nondurable 3. durable 4. intermediate

23-Before money was used, transactions took place by means of ............. .

1. barter 2. paper 3. coin 4. check

24- A bank which is an official institution that serves as a country's treasury's bank is ............. bank.

1. commercial 2. private 3. agricultural 4. central

25-Amount of money that you pay regularly for the use of a house, flat, or piece of land is ................ .

1. expense 2. tax 3. rent 4. subsidy
26-Which one is the financial statement designed to show a business entity's financial position - what

it owns and what it owes- on a particular date?

1. Income statement 2. statement of owner's equity

3. balance sheet 4. cash flows

27-A person whose job is to keep or check financial accounts, is a (n) ............. .

1. stockholder 2. creditor 3. investor 4. accountant

28-Which one is not related to others in meaning?

1. business 2. company 3. corporation 4. shop center

29-Which one is related to this fact that assets have future economic benefits?
1. the going concern concept 2. the objectivity principle

3. the business entity concept 4. the cost principle

30-Advertisement can increase consumer motivation for using a production.

1. dislike 2. enthusiasm 3. hate 4. reluctancy
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1-He sold the house he had purchased only two years ago. 'Purchased' means............... .
1. sold 2. rented 3. damaged 4. bought

2-Ultimately, the purpose of economics is to explain............. .

1. choices 2. charges 3. losses 4. services

3-Economics is divided into two types of analysis: microeconomics and macroeconomics. 'Micro-' in
the word 'microeconomics' means........... .

1. Jarge 2. small 3. huge 4. big

4-The analysis involving value judgments about economic policies is called...........c..ceeue.....€C0NOMICS.

1. normative 2. positive 3. production 4. distribution

5-The revenue earned or received by households that can be used for consumption or saving is
called..............

1. Joss 2. profit 3. expense 4. income
6-The ................ consists of the factories and equipment used in production.

1. labor 2. human capital

3. physical capital 4._entrepreneurship

7-Some individuals can solve mathematical problems very quickly. 'Individuals’' means............ .

1. goods 2. needs 3. services 4. persons

8-The law of demand states that a change in price causes a change in the guantity demanded in the
opposite direction. '"Quantity’ means............... .

1. quality 2. amount 3. size 4. price

9-We measure the demand schedule in terms of a time dimension and in ................quality units.

1. constant 2. changing 3. unusual 4. impossible

10-The supply of any goods or services is the amount that firms......................and offer for sale under
certain conditions.

1. delete 2. remove 3. produce 4. destroy
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11-The excess of total revenue over total cost during a specified period of time is called................. .

1. loss 2. profit 3- loan 4. expense

12-The personnel manager fired some of the workers because they didn't do their duties properly.
'Fired' means............ .

1. hired 2. employed 3. dismissed 4. accepted

13-Unemployment has been categorized into four basic types: frictional, structural, cyclical, and

1. seasonal 2. permanent 3. emotional 4. traditional

14-GDP does not count intermediate goods. 'GDP' stands for Gross Domestic.............. .

1. Price 2. Place 3. Plant 4. product

15-The amount of money that you take from your bank account is called................... .

1. tax 2. rent 3. expense 4. withdrawal

16-The money that someone is paid for his job each month , especially when he has a professional job
is called............

1. price 2. salary 3- vender 4. Dollar

17-He tried to acquire the information he needed. 'Acquire’' means..........

1. Jose 2. miss 3. obtain 4. destroy

18-A person who buys shares or who pays money into a bank in order to receive a profit is called a(n)

1. seller 2. investor 3. controller 4. controller

19-1f you make a prediction, you say what you think will happen. 'Pre-' in the word 'prediction’
MEeans.....ceueee «

1. not 2. after 3. before 4. again

20-Advertisement can increase consumer motivation for using a product. 'Motivation' means............. .

1. wasting 2. planning 3. tiredness 4. enthusiasm

21-A demand curve is simply a graphical representation of the law of demand. 'Curve' means.......... .
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22-1n a pure market system, competition generates economic efficiency . 'Economic efficiency'
means........... «

1 sas s 2. colazsl Sl 3 LIS Sia 4. Siad olasl

23-The inflation rate that we believe will occur is called anticipated inflation. 'Anticipated inflation'
MEeaNS...cuuuee «

Lol anse 2 oy glsk o5

3. 4.

24-Durable goods having an expected service life or more than three years are called capital goods.
'Capital goods' means........ .

1o el ayle o VIS 2. biae VS - VIS o055 LS o g

25-Money's attribute as the most readily tradable asset is called liguidity. 'Liquidity’ means............. .

4.

" o PO 8. Siuk il

Yede/VedeN-FAP

¥y axio 1F1-4Y g8 Jlunsd

http:l.‘SoaIatPNU.ir )8 ‘nl" é‘ﬂ,—a b‘l"." n.ii, LW X) )l).’ Ly J)L;, L. n:-‘l.a » |) le u.a)o] o C-‘L.a 3' n:-‘la-‘n- Sy



1212174 - 91-92-2
T oeo 2l Cmisg
1 3 Salo
2 il Sals
3 wr Salo
4 wall Sals
5 3 Sals
G = Sals
7 3 Sals
8 _r Sals
g vl Sals
10 = Sals
11 wr Sals
12 = Salo
13 il Sals
14 3 Salo
15 3 Sals
16 r Sals
17 = Sals
13 r Sals
19 = Sals
20 3 Sals
21 r Salo
22 wr Sals
it 3 Salo
24 wall Sals
25 = Salo




91-92-1



http://soalatpnu.ir

%‘Soalatl’uu.ir IR gl sl _%L%
ol ylos! (5131 (295 bl y (il () le & i halug jgail i0s Z/\S

39 Pl ¥ lgu Jal> S

1S 2 Jow (g g et P g Qe s o $ (4888) aoiT Glo) NP TR R RPN R W R Y

w).idmgol..a.d' ‘sna.a:u ub) :E"J" U'B—“

() (s S ol (ki) (G )3l o e ol (5 ) solatil pale( phduiiz) (g Mibua 3 yd W/ (e 4l 5
JIVIVIVE ( lsmais) g0 S pied Slduuis) 50,5050 Cu pie

1-An approach to the study of consumer behavior that emphasizes psychological limitations and
complications that potentially interfere with rational decision making is called.................

1. nhormative economic 2. positive economic
3. behavioral economic 4. microeconomic
2- A key behavioral implication of the ........... assumption is that people should use so-called rules of
thumb .
1. unbounded rationality 2. pounded rationality
3. microeconomic 4. macroeconomic

3-Which one does not belong to macroeconomic?
1. inflation 2. pusiness cycles

3. unemployment 4. industries

4-Which one does not belong to the basic categories of resources?

1. labor 2. training 3. capital 4. land
5-What is the meaning of "trade-off " in the following sentence?

When you think of any alternative , you are thinking of trade-offs.

1. deal 2. scarcity 3. satisfaction 4. fullfillment

6-The component of human resources that performs the functions of organizing ,managing and
assembling the other factors of production to create and operate business ventures is

called............
1. physical capital 2. human capital
3. entrepreneurship 4. labor

7-Something which may cause consumer to want to purchase more of everything today's prices is
called........covrvveenennnns of a rise in income.

1. nhominal value 2. substitutes 3. complement 4. expectation

8-What is the meaning of "goes up " in the following sentence?
When the price of a good goes up, people buy less of it .

1. decline 2. reduce 3. increase 4. enlargen
9-In a pure market system , competition generate economic ................... only when individuals
know and must bear the true opportunity cost of their action.
1. efficiency 2. externality 3. finance 4. competition
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10-The principle of .............. does not apply to public goods which can be consumed jointly by many
individuals simultaneously.
1. goverment -sponsored good 2. subsidize
3. redistribution 4. rival consumption

11-What is the meaning of " commencement" in the following sentence?
Department must reduce their spending before new term commencement.

1. goods 2. season
3. beginning 4. amount of money
12-In our country the government ........... education.
1. inhibits 2. subsidizes 3- provides 4. sponsors

13-The inflation rate that we believe will occur; when it does , we are in a situation of

1. unanticipated inflation 2. anticipated inflation

3. restiriction 4. interest rate

14-Unemployment due to fact that workers must search for appropriate job offers . This takes time ,

and so they remain temporary unemployed. This is called...........cccceeiiuini
1. cyclical unemployment 2. frictional unemployment
3. seasonal unemployment 4. structural unemployment

15-What is the meaning of "fired " in the following sentence?
Psychological researchers believe that being fired creates as much stress as the death of a close
friend.

1. obligated to job 2. responsible
3. dismiss from a job 4. remain to a job
16-An individual who used to work full-time but left the labor force and has now reentered it looking
for a job is called....................
1. nhew entrant 2. job loser 3. job leaver 4. reentrant

17-Unemployment resulting from a poor match of workers 'abilities and skills with current
requirements of employers is called...............

1. structrual unemployment 2. seasonal unemployment
3 frictional unemployment 4. cyclical unemployment
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18-Goods used up entirely in the production of final goods is called....................

1. public goods 2. final goods
3. intermediate goods 4. gross domestic product
19-Britain's poor economic ........... caused to high rate of unemployment.
1. securities 2. services 3. performance 4. investment

20-Institutions that transfer funds between ultimate lenders and ultimate borrowers is

called.....cccoevveiernnnnne
1. liable departments 2. asymmetric information
3. financial intermediaries 4. transaction deposits

21-Money's attribute as the most readily tradable asset is called......................

1. deposits 2. oan 3. barter 4. liquidity
22-The largest component of Iran .............. is paper bills.
1. approach 2. treasury 3. currency 4. traveler's check

23-An official or formal announcement that has been specially prepared for a particular occasion or

situation is called......cccoevvnrines

1. palance sheet 2. |ist 3. statement 4. withdrawal
24-A recession would reduce government tax ................

1. income 2. earned 3. salary 4. revenue

25-The financial statement designed to show a business entity's financial position -what it owns and

what it owes-on a particular date is called.................
1. balance sheet 2. money report
3. total revenue statement 4. expenses record
26-The ............. is entitled to reasonable return on his money.
1. owner 2. official 3- investor 4. accountant

27-What is the meaning of "stable " in the following sentence?
Oil prices are stable for the first time in year.

1. temporary 2. unpermanent 3. low 4. steady
28-A(N).eereerennnn. is an economic unit that engage in identifiable business activities.
1. principle 2. inflation 3. business entity 4. asset
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29-Management as a subject is dynamic , so the term "profession " or "professional Manager " has
got different ........................

1. denotation 2. connotation 3. coordination 4. autocratic
30-Advertisement can increase consumer .......... for using a production.
1. organizing 2. prediction 3. profession 4. motivation
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1-1f the resources , goods, and services are distributed according to the economy's highest valued
uses, a(n) .ccceeeereereeene is efficient.

1. assumption 2. prediction 3. allocation 4. saving

2-The branch of economics that studies the entire economy, topics as aggregate production,
unemployment, inflation and business cycles is called...
1. macroeconomics 2. microeconomics
3. normative economics 4. positive economics

3-In economics, we assume that people do not intentionally make decisions that will leave them
worse off. This is known as the...
1. rationality assumption 2. self satisfactin

3. ceteris parisbus 4. behavioral economics

4-A special sort of human effort that takes on the risk of bringing labor, capital and land together

and organizing production is called.................
1. consumption 2. entrepreneurship
3. normative economics 4. human behavior

5-Which one is the most basic concept in all of economics?

1. low income 2. scarcity 3. resources 4. opportunity cost
6-1f a nation experiences economic growth, the................ curve will move outward.
1. trade-off 2. gpportunity
3. cost 4. production possibility
7-TWo g0o0ds are......c.ceeeeeeenenennnenens when a change in price of one causes an opposite shift in the
demand for the other.
1. complements 2. substitudes 3. commodity 4. available
8-We have ......cccueueneeee. when a given level of inputs is used to produce the maximum output
poissible.
1. efficiency 2. failure 3- trouble 4. competition

9-Which one is_ not an example of a public good?

1. national defence 2. police protection
3. automobile 4. highway
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10-Unemployement resulting from a poor match of workers¢ abilities and skills with current

requirements of employers is........ccccceernnns unemployment.

1. seasonal 2. cyclical 3 frictional 4. structural
11-The real rate of interest is defined as the............ccreruuuuenn. rate of interest minus

112 [ rate of inflation.

1. real, anticipated 2. nominal, anticipated

3. real, unanticipated 4. nominal, unanticipated

12-An individual who used to work full-time but left the labor force and has now reentered it looking
forajobis.....

1. job loser 2. reentrant 3. debter 4. new entrant

13-When we compute GDP by adding up all Rial value at current market prices of all final goods and
services, we have used the ....... approach.

1. psychological 2. behavioral 3. social 4. expenditure

14-Which one is any use of today¢s resources to expand tomorrow's production or consumption?

1. Gross private domestic investment 2. |Investment
3. Capital goods 4. Fixed Investment

15-Consumer goods that have a life span of more than three years are...................... goods.
1. intermediate 2. nondurable 3. durable 4. final

16-An official institution that serves as a country¢s treasury's bank is called...........................

1. private bank 2. central bank 3. public bank 4. save bank

17-Which one is one of the most important function of money?
1. medium of exchange 2. unit of accounting
3. store of value 4. standard of deferred payment
18-A business owened by one individual who makes the business decision, receives all the profits and
is legally responsible for the debts of the firmis....
1. revenue 2. corporation 3. partnership 4. proprietorship

19-Which one is designed to show a business entitys financial position-what it owns and what it
owes-on a particular date?

1. Income Statement 2. Statement of owner¢s equity
3. Balance sheet 4. Company¢s revenues
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20-The money that a government or organization receives from people is called..........cccurureees

1. rent 2. surplus 3. salary 4. revenue
21-The ..cccveeeeerenns principle specifies that assets acquired by a business entity are to be recorded at

the exchange price paid for them.

1. cost 2. objectivity 3. business entity 4. going concern
22-We call a person whose job is to keep or check financial accounts as........cccocieinnns

1. salesman 2. employee 3. accountant 4. clerk

23-Which one is_not the subject matter of management?
1. planning 2. controlling

3. directing 4. political election

24-A situation in which supply and demand are matched and prices stable is called equilibrium.

1. 8,08 2. oy 3. Joles 4. bl

25-We refer to an ordered list of times at which things are planned to occur as schedule.
[PET O 2 o aaby oo 3 Lal, azs 4 lasalys ol

26-A price system allows all resources to move from lower- valued uses to higher-valued via
voluntary exchange."Via"means.....cc....ccervvennnnnnes

27-Before money was used, transactions took place by means of barter."barter"means................

28-When a country or organization has ability to pay back its debts, it has solvency.

1. 3.

Osed olay lilgs 2 s 5l s ousls s g5 5| 4 st i e 5

29-Management as a subject is dynamic.This_approach is very close to the practice of
management."Approach"means.....

1 L 2., 3 5, 4., 5

30-A legal document containing an agreement or contract is called deed."deed"means............

1. 2, 3. .. 4.
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Y is the study of how people allocate their limited resources in an attempt to satisfy their
unlimited wants.

a. Economics b. Management

c. Communication d. Credentials
Y. Economics assume that individuals act as motivated by self-interest and respond predictably to
opportunities for gain.

a. begin b. accept c. happen d. react
Y. Which one of the following items does not belong to social sciences?

a. accounting b. economics

c. biology d. management
£, Production can be defined as virtually any activity that results in the conversion of resources into
products that can be used in consumption.

a. revenue earned or received by households that can be used for consumption or saving

b. the process of changing something from one form to another

c. the sum of a person's productive knowledge, experience, and training

d. replacing one thing with another

, every individual has competing wants but cannot satisfy all of them, given limited

resources.

a. reality b. realize c. really d. realized

1. It is the most basic concept in all of economics. It means that we do not ever have enough of

everything, including time, to satisfy our every desire. It exists because human wants always exceed

what can be produced with the limited resources and time that nature makes available. It is called

b. Trade-off c. Scarcity d. Consumption
Y. A situation in which supply and demand are matched and prices stable is called .......... .

a. equilibrium b. expectation c. shortage d. surplus
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A. Microprocessor chips, French fries, multifunction printer-copiers, children, and criminal activities
exist because there is for them in society.
a. quality c. schedule d. demand

A, If a change in the price of one good shifts the demand for another good, those two goods have

interdependent demands.

a. connected with the inside of something b. lasting a very long time
c. stopping and starting often d. that depend on each other
V. In a pure market system, competition generates economic only when individuals know
and must bear the true opportunity cost of their action.
a. efficiently b. efficient c. efficiency d. efficiented
V). Consider a hypothetical world in which there is no government regulation against pollution. P1A
a. making dirty b. making clean
¢. making pure d. making efficient
VY. When there are external benefits, the price is too low to induce suppliers to allocate resources to
the production of that good or service.
a. produce b. cause c. prevent d. blame
VY. Psychological researchers believe that being fired creates as much stress as the death of a close
friend.
a. dismissed from a job b. shoot bullets from a gun
c. made feel very excited d. make an engine start to work
YE is normally defined as the number of adults who are actively looking for work but do not
have a job.
a. Employee b. Employment
¢. Unemployment d. Employer
Ve, Cyclical unemployment is related to business fluctuations.
a. seasons b. productions

c. policymakers d. changes
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V. If there were no expectations of profit, 3ba®l slasdi o yae would not incur the risk associated

with the organization of productive activities.
a. Secondhand good managers b. entrepreneurs
c. Business managers d. Investment managers

VY. To avoid double counting, we look only at final goods and services produced or, equivalently at

a. inventories b. gross domestic product
c. value added d. nondurables
YA, Are you receiving 4> s from your parents in order to attend school?
a. Wage b. funds c. Investment d. Transaction
V4, Before money was used, transactions took place by means of bbb 4l
a. financial intermediaries b. barter
C. currency d. deposit
Y. Money facilitates exchange by reducing the transaction costs associated with means-of-payment
uncertainty.
a. to make an action or a process possible or easier
b. to make an action or a process impossible or harder
c. to give or return sth that you have and get sth different or better instead
d. to do business with a person or an organization
Y. Fiduciary comes from the Latin fiducia, means “trust” or “‘confidence”.
a. when b. how d. where
YY. They spend the afternoons looking at the pictures outside cinemas, unable to afford the entrance
fee.
a. Extra money that you receive if you have invested a sum of money.
b. Money that something costs or that you need to pay for something illegal.
c. Large sum of money used in a business or invested to make more money.

d. Sum of money that you pay to be allowed to do something.
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Y¥. The owners, managers, and major creditors are anxious to see the latest available
thereby to judge how well the company is doing.
a. liability b. income statement
c. owner’s equity d. assets
Y £, The balance sheet is listing of assets, liabilities, and owner’s equity at a point in time.
a. 4l )l 4 b. ‘_,,_'isb# Al
C. Uk 535 &) d. ol pala i)
Y. He tried to acquire the information he needed.
a. Obtain b. Send c. Continue d. Confirm
Y. Any value other than cost could not be upon by independent parties.
a. agreeably b. agreement
C. agrees d. agreed
YV. Unlike the mile and the kilometer, the rial is not a precise and changeless unit of measure. A rial
of Y4A+ is not the same as a rial of today, due to ......... .
a. inflation b. business c. transaction d. objectivity

YA, The subject matter of delegation, decentralization, span of management are all part of this

definition.
a. )l il b. sl il

C. Saidal d. )8

Y4, According to the passage, which one of the following issues is not the subject matter of

management?
a. political election b. planning
c. controlling d. directing

¥+, Advertisement can increase consumer motivation for using a production.
a. prediction b. management

c. enthusiasm d. discipline
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Y is the study of how people allocate their limited resources in an attempt to satisfy their
unlimited wants.

a. Economics b. Management

c. Communication d. Credentials
Y. Economics assume that individuals act as motivated by self-interest and respond predictably to
opportunities for gain.

a. begin b. accept c. happen d. react
Y. Which one of the following items does not belong to social sciences?

a. accounting b. economics

c. biology d. management
£, Production can be defined as virtually any activity that results in the conversion of resources into
products that can be used in consumption.

a. revenue earned or received by households that can be used for consumption or saving

b. the process of changing something from one form to another

c. the sum of a person's productive knowledge, experience, and training

d. replacing one thing with another

, every individual has competing wants but cannot satisfy all of them, given limited

resources.

a. reality b. realize c. really d. realized

1. It is the most basic concept in all of economics. It means that we do not ever have enough of

everything, including time, to satisfy our every desire. It exists because human wants always exceed

what can be produced with the limited resources and time that nature makes available. It is called

b. Trade-off c. Scarcity d. Consumption
Y. A situation in which supply and demand are matched and prices stable is called .......... .

a. equilibrium b. expectation c. shortage d. surplus
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A. Microprocessor chips, French fries, multifunction printer-copiers, children, and criminal activities
exist because there is for them in society.
a. quality c. schedule d. demand

A, If a change in the price of one good shifts the demand for another good, those two goods have

interdependent demands.

a. connected with the inside of something b. lasting a very long time
c. stopping and starting often d. that depend on each other
V. In a pure market system, competition generates economic only when individuals know
and must bear the true opportunity cost of their action.
a. efficiently b. efficient c. efficiency d. efficiented
V). Consider a hypothetical world in which there is no government regulation against pollution. P1A
a. making dirty b. making clean
¢. making pure d. making efficient
VY. When there are external benefits, the price is too low to induce suppliers to allocate resources to
the production of that good or service.
a. produce b. cause c. prevent d. blame
VY. Psychological researchers believe that being fired creates as much stress as the death of a close
friend.
a. dismissed from a job b. shoot bullets from a gun
c. made feel very excited d. make an engine start to work
YE is normally defined as the number of adults who are actively looking for work but do not
have a job.
a. Employee b. Employment
¢. Unemployment d. Employer
Ve, Cyclical unemployment is related to business fluctuations.
a. seasons b. productions

c. policymakers d. changes
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V. If there were no expectations of profit, 3ba®l slasdi o yae would not incur the risk associated

with the organization of productive activities.
a. Secondhand good managers b. entrepreneurs
c. Business managers d. Investment managers

VY. To avoid double counting, we look only at final goods and services produced or, equivalently at

a. inventories b. gross domestic product
c. value added d. nondurables
YA, Are you receiving 4> s from your parents in order to attend school?
a. Wage b. funds c. Investment d. Transaction
V4, Before money was used, transactions took place by means of bbb 4l
a. financial intermediaries b. barter
C. currency d. deposit
Y. Money facilitates exchange by reducing the transaction costs associated with means-of-payment
uncertainty.
a. to make an action or a process possible or easier
b. to make an action or a process impossible or harder
c. to give or return sth that you have and get sth different or better instead
d. to do business with a person or an organization
Y. Fiduciary comes from the Latin fiducia, means “trust” or “‘confidence”.
a. when b. how d. where
YY. They spend the afternoons looking at the pictures outside cinemas, unable to afford the entrance
fee.
a. Extra money that you receive if you have invested a sum of money.
b. Money that something costs or that you need to pay for something illegal.
c. Large sum of money used in a business or invested to make more money.

d. Sum of money that you pay to be allowed to do something.
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Y¥. The owners, managers, and major creditors are anxious to see the latest available
thereby to judge how well the company is doing.
a. liability b. income statement
c. owner’s equity d. assets
Y £, The balance sheet is listing of assets, liabilities, and owner’s equity at a point in time.
a. 4l )l 4 b. ‘_,,_'isb# Al
C. Uk 535 &) d. ol pala i)
Y. He tried to acquire the information he needed.
a. Obtain b. Send c. Continue d. Confirm
Y. Any value other than cost could not be upon by independent parties.
a. agreeably b. agreement
C. agrees d. agreed
YV. Unlike the mile and the kilometer, the rial is not a precise and changeless unit of measure. A rial
of Y4A+ is not the same as a rial of today, due to ......... .
a. inflation b. business c. transaction d. objectivity

YA, The subject matter of delegation, decentralization, span of management are all part of this

definition.
a. )l il b. sl il

C. Saidal d. )8

Y4, According to the passage, which one of the following issues is not the subject matter of

management?
a. political election b. planning
c. controlling d. directing

¥+, Advertisement can increase consumer motivation for using a production.
a. prediction b. management

c. enthusiasm d. discipline
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Part one: Vocabulary

Choose the best item and mark in your answer sheet.

1. The executive administrators has high ................ in organizing activity.
a. device b. efficiency c. commission d. employment
2. The edge of the sea remains a(n) .............. and indefinable boundary.
a. trait b. imagination c. elusive d. creative
3. The balance of two accounts are .............. the same. There is no mistake in it.
a. probably b. creatively c. productively d. precisely
4. One may ........... it more fruitful to ask the police to crack down on litter under the street
litter law.
a. deem b. improve ¢. collect d. bunch
5. He’susually ................ somewhere near the window.
a. developing b. lurking ¢. inducing d. ceasing
6. Hehasalotof............. and cannot accept anymore.
a. departments b. authorities c. commitments d. skills
7. The doctor has been ableto ................ some improvement as a result of the medicine.
a. deviate b. perform
C. progress d. detect
8. Theyare.............. responsible for every thing that happens.
a. corporately b. managerially
c. organizationally d. authoritatively

9. Their actions are based on some method, plan or logic rather than on a(n) ................ .
a. purpose b. objective ¢. hunch d. goal

10. All managers regardless of their particular or skills engage in certain activities to achieve
their goals.
a. components b. aptitudes

c. assembly d. software
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11. Without seeing his work, the .............. of his ability is really impossible.
a. record b. project c. abstract d. evaluation
12. They need to reduce paperwork and ............... in the company.
a. utility b. cooperating c. bureaucracy d. diversity
13. The line that separates administration from other type of human interaction often become
a. blurred b. decided c. approached d. estimated
14. He succeededinthe ............... of his ideas.
a. involving b. implementation  c. concerning d. occupation
15. The .............. of administration are people action and interaction. No other tools are
equally important.
a. goals b. devices c. ingredients d. processes
16. The .....covvennine of these stores have not yet been determined.
a. judgment b. market C. price d. inventory
17. The manager wants a(n) .............. reply on the part of the employee. There should be no
delay.
a. deliberated b. immediate
c. inherent d. trivial
18. Asyou .............. the town the first thing you see is the beautiful part.
a. force b. approach C. promise d. hope
19. The factory’s ............... level is very low because of the recent employee’s strike.
a. circumstance b. policy
c. output d. committee
20. A decision is the choice made from among available................. .
a. abilities b. alternatives c. problems d. keys
21. The company’s ................. will be used for improving the condition of the work
environment.
a. funding b. rewards c. motive d. readership
22. Some people ............. easily to living in new places; some don’t.
a. initiate b. concentrate c. grumble d. adapt
Y
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23. The ............. for the decision is the desire to improve our services to our customers.
a. faith b. behavior c. motivation d. matter
24. Theplanwas ................. because of the cost. We are no longer going to do it.
a. fulfilled b. inspired c. communicated d. abandoned

25. The college has trained many of our country’s ................. .
a. criterion b. administrators c. factory d. theories

Part II: Read the following passage carefully and choose the best item.

Money can motivate some people under some conditions So the issue isn’t really whether or not
money can motivate. The answer to that is: it isn’t | The more relevant question is: Does money
motivate most employees in the work force today to higher performance? The answer to this
question, we’ll argue, is “No”.
For money to motivate an individual’s performance, certain conditions must be met. First, money
must be important to the individual. Second, money must be perceived by the individual as being
a direct reward for performance. Third, the marginal amount of money offered for the
performance must be perceived by the individual as being significant. Finally, management must
have the discretion to reward high performers with more money. Let’s take a look at each of these
conditions.
Money is not important to all employees. High achievers, for instance, are intrinsicly motivated.
Money should have little impact on these people. Similarly, money is relevant to those
individuals with strong lower- order needs; but for most of the work force, their lower- order
needs are substantially satisfied.
26. There are............... circumstances in which money motivates an individual’s performance.
a. three b. four c. five d. six

27. According to the passage, high achievements are related to ................. .

a. extrinsic motivation b. direct reward
¢. intrinsic motivation d. material satisfaction
v
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28. Money is important for those individuals with .................. .

a. higher — order needs b. higher performance
c. lower — order needs d. significant performance
29. The author states that money can be viewed and accepted as a ............... to good
performers.
a. satisfaction b. need
c. condition d. reward

30. According to the passage, for most of the work force ...................... .
a. intrinsic motivation is important.
b. low — order needs are substantially satisfying
c. there is not any high — order needs.

d. money is the only satisfying reward.

Part II: Translation

1. Management is a process which enables organization to achieve their objectives by planning,

organizing leading and controlling their reasons.

2. Strategic decisions: these are the basic, long — term decisions which settle the organization’s

relationship with its environment.

3. Performance depends on three factors: ability environment, and motivation. If employees
have necessary abilities, are supported by their organizational environment and adequately

motivated.

4. Individual decisions making is an important part of organizational behavior. But how

individuals in organizations make decisions are largely influenced by their perception.
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